Linux socket listen code:

#include

W listen (ciBS: libc's INLINE_SYSCALL)
listen(int sockfd backlog) BEEZE backlog GEILERINT, EERE)
golangE 1%1%: /proc/sys/net/core/somaxconn

SYSCALL DEFINE2(listen fd LERIRLP) Nz LIS FFIE: net/socket.c

{ [ IR S t\:l:
__sys_listen(fd, backlog) ﬂi)i%égbﬂaﬁﬁ

}

__sys_listen( fd listen
|->INLINE_SYSCALL(listen......)
socket *sock | ) .
err, fput needed |->SYSCALL_DEFINE2(listen, int, fd, int, backlog)
somaxconn /I MEXNNINAERSFE, NFEIREIBADF
B . |->sockfd_lookup_light
Socfsgciic}zfd—lwkup—llght(fd serr, &fput needed) /* backlog BX backlogflsomaxconngs/J\VH /proc/sys/net/core/somaxconn
somaxconn = sock net(sock->sk)->core.sysctl somaxconn |'>if ((unsigned int)backlog > somaxconn) baCklOg = Somaxconn
(( )backlog > somaxconn) |->sock->ops->listen(sock, backlog) <=> inet_listen

backlog = somaxconn

err = security socket listen(sock, backlog)
(lerr)
err = sock->ops->listen(sock, backlog)

fput light(sock->file, fput needed)

err

net/af inet.c
listenA] AWK E & E
inet listen( socket *sock backlog) E’gﬁﬁﬁﬁj, backlog queueEJL‘,{%Ezﬂ%Eﬁz

sock *sk = sock->sk
old state
err, tcp fastopen

lock sock(sk)

err = -EINVAL

(sock->state != SS UNCONNECTED || sock->type != SOCK STREAM)
out

old state = sk->sk state

(!((1l << old_state) & (TCPF _CLOSE | TCPF LISTEN)))
out

WRITE ONCE (sk->sk max ack backlog, backlog)

(old state != TCP_LISTEN) {

tcp fastopen = sock net(sk)->ipv4.sysctl tcp fastopen
((tcp_fastopen & TFO SERVER WO SOCKOPT1l) &&
(tcp_fastopen & TFO SERVER ENABLE) &&
!inet csk(sk)->icsk accept queue.fastopeng.max glen) {
fastopen queue tune(sk, backlog)
tcp fastopen init key once(sock net(sk))

err = inet csk listen start(sk)
(err)

tcp call bpf(sk JBPF SOCK OPS TCP LISTEN CB NULL)

release sock(sk)
err

inet csk listen start( sock *sk) net/inet connection sock.c

inet connection_ sock *icsk = inet csk(sk) err = Sﬁ>5k—pr0t'>ha5h(8k):
inet sock *inet = inet sk(sk) Z?BE% HUSOCKGt%U@E}h&Sh%
Srr = -BADDRINUSE ATIREISYNCIR X B F 1%

regsk queue alloc(&icsk->icsk accept queue)

sk->sk ack backlog =
inet csk delack init(sk)

(sk->sk_txrehash == SOCK_TXREHASH DEFAULT)
sk->sk txrehash = READ ONCE(sock net(sk)->core.sysctl txrehash)

inet sk state store(sk, TCP_LISTEN)
(!sk->sk _prot->get port(sk, inet->inet num)) {
inet->inet sport = htons(inet->inet num)

sk _dst reset(sk)
err = sk->sk prot->hash(sk)

(likely(lerr))
}

inet sk set state(sk, TCP_CLOSE)
err




